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RESET THE
SESSION

SET THE
PARTICIPANT
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Boxed answers agree with
TurningPoint answers

Points agree with
TurningPoint points

Points total to 100

Topics covered are in bounds



QUIZ
FOLLOWS



f(1) = 200
f(3) =800
avg rate of change?

(a) (200 — 800)/(1 — 3)

(b) (1 —3)/(200 — 800)
(c) (800 —200)/(1 — 3)

(d) none of the above
0% 0% 0% 0%
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position = ¢2
velocity = 77

(a) 2t

(b) t/2

(c) t2

(d) none of the above
0% 0% 0% 0%

R v > ™
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In(z +y) =77
(a) (Inz) + (Iny)

(b) (Inz)(Iny)
(c) (Inz) — (Iny)

(d) none of the above

0% 0% 0% 0%
Correct ans: no simplification | < 5 . -
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sin(x +y) =77

(a) (sinz) + (siny)

(b) (cosz)(cosy) — (sinz)(siny)

(c) (sinz)(cosy) + (cosx)(siny)

(d)none of the above
0% 0% 0% 0%

R Vv > ™
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7 /4 radians = 7?7 degrees

(a) 30
(b) 60

(c) 90

(d) none of the above
0% 0% 0% 0%

Correct answer: 45 N N s N
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END
QUIZ



END
CLASS



= =77
b/c
ab
(a) —
(b) -
ac
(c) —
(d) none of the above
0% 0% 0% 0%
N Vv > ™
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— 77

a  a
(a)g‘FE

(b)%-l-c

(c)b

a

(d) none of the above
0% 0% 0% 0%

Correct ans: no simplification [ 5 . X
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(a) 7?7 =1 and 777 =2

(b)?7?=1and 777 =1
(c)?? =1 and ??7? = +/3/2

(d) none of the above
0% 0% 0% 0%

R v % ™
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T or F:
Jr eR s.t. 2 =2

(a) True

(b) False
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T or F:
JreR s.t. 22 = —1

(a) True

(b) False
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T or F:
dxr € Q s.t. 12 = 2

(a) True

(b) False
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T or F:
(—o0, 5] is compact

(a) True

(b) False
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T or F:
[—1,2] is compact

(a) True

(b) False
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(a) True

(b) False

T or F:

(—1,1) is open
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T or F:
[—1,00) is closed

(a) True

(b) False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

21

0of 5 Topic 0010 O pts




SAVE THE
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